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C+EIM, =0; —90N-m — 60N(1m) + Ng(0.75m) = 0
NH = ZDDN
Using this result,
LK 3F =0; A, — 200sin 30°N = 0
A, = 100N
+13F, = 0; A, —200cos 30°N — 60N = 0
A, = 233N
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S3F =0 A, —52(&) N + 30cos 60°N = 0
A, = 500N Ans.
+13E = 0; Ay, —52(13) N — 30sin 60°N = 0
A, =T740N Ans.

C+IM, =0; M, — [52(13)N] (0.3 m) — (30 sin 60° N)(0.7 m) = 0

M, = 326 N-m Ans.

Fy = V(5.00? + (74.07 = 74.1 N
A e Goall An=s
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(;"‘ZMA = 0
[Ny cos 30°](6 ft) — [Ng sin 30°](2 ft) — 750 Ib(3 ft) = 0
Np = 536.21b = 5361b

Using this result,
BSF =0, A, — (536.21b)sin30° = 0
A= 2681b

+12F, =0. A, +(536.21b) cos 30° — 7501b = 0
A, = 2861b
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53F,=0;  C,sin30°+ B, sin30° — A, =0 (1)
- TEF_\. = 0 —300N + C, cos 30° + B, cos 30° = (2)
C+2IM,=0;: —B,.2m)+ 4000N-m — C,(6 m)
+ (300 cos 30° N)(8m) = 0 (3)
:(3)5(2) calstall e
B, = —1000.0N = —1 kN

C, = 13464 N = 1.35kN

1346.4 sin 30° N + (—1000.0sin 30°N) — A, = 0
A, = 173N
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SIF =0 A, 4 500(3) = 0 20b
A, = 3001b Ans '
FEM, = 0; B/(10) = 500(£)(5) - 600 = 0
B, = 2601h Ans
ISF, =00 A 4+ 260 - 500(%) =0
A = 1401b Ans
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C+EM, =0

Fepsind3*(15m) — 4 kNG m) =0

Fep = 1131 KN = 11.3 kN

*EF, =0: A, + (1131 kN)cos45° = 0

A, = —BkN = BkN«—

+1EF, =0,
A, + (1131 kN)sin45° — 4kN = 0
A, = —4kN = 4kN |

oyl e Jlas¥l 393 ,) Lidgeally 48 SLS A w1 7 Ulwa
B =il Jaallg e A dLlnsall

C+IM, =0
Ngl6m + (6 m) cos 457]
= 10KN[2m + (6 m) cos 457
=5kNidm) =10
Ny = 8047 kN = BOS KN Ans.
CSF =0
(SkN)cos 45" = A, =10
A, = 354EkN Ans.

+13F, =0
A, + B4TEN = (SEN)sind5° = IDKN =10
A =549EkN AHrs.
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w2F, =0, —=A; + 400 cos 30° = 0

A, = 346 N Ans.
+1EF, = 0;
Ay = 200 = 200 = 200 = 400 sin 30° = 0
A, = 800N Ans.
C+EIM, =0;

M, = 200(2.5) — Z0M3.5) — 20M04.5)
— 400 sin 30%(4.5) — 400 cos 30°%(3 sin 60°) = 0
My = 300KkN-m Ans.
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